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B v ' . ' . N N ' . ' N
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1.1
1.1.1

ho

2.366 (m)

Vo

N

.536 (m/s)

hc

.543 (m)

Ve

.889 (m/s)

hla

.763 (m)

Via

.859 (m/s)

.940 (m)

h2

.366 (m)

NN O |I N[Ol WP

V2

.536 (m/s)

1.1.2

(hc+D1+D2 h2)

2.843

2.366 (m)

6.

681 (m)

7.

000 (m)

OK

0.

946 (m)

1.

500 (m)

OK

1.1.3

2.299 (m)

2.500 (m)

0K

1.1.4

2.000 (m)

hia < hib
L1 = 11.929 (m)
L2
L

L1 + 12 = 22

10.645 14.194 (m)
574 026.123 -

25.000 (m)

LB = 7.097 11.828 -

10.000 (m)

1.1.5

0.095 (kN)

6.491 (kN)

0.543 (kN)

0.007 (kN)

FORUMS8




1.2
1.2.1
(m)
N(kN) M(KN.m) X(m) e ea
150.976 791.600 5.243 -0.743 1.500 | OK
419.672 2078.236 4.952 -0.452 1.500 | OK
244 155 1212.013 4.964 -0.464 3.000 | OK
422906 2068.498 4.891 -0.391 3.000 | OK
1.2.2
N(kN) HCKN) Fs Fsa
150.976 82.541 1.097 1.500 | NG
419.672 82.541 3.051 1.500 | OK
244155 | 145.917 1.004 1.200 | NG
422.906 | 145.917 1.739 1.200 | OK
1.2.3
(kN/m*)
N(kN) M(KN.m) e(m) x(m) p Pa
150.976 791.600 0.743 11.270 25.087 | 294.000 | OK
419.672 2078.236 0.452 12.144 60.683 [ 294.000 | OK
244 155 1212.013 0.464 12.108 35.522 | 441.000 | OK
422906 2068.498 0.391 12.327 59.243 | 441.000 | OK
1.3
1.3.1
(N/mm?) (N/mm?)
MCkN.m) x(mm) gc o ca gs o sa
27.076 | 215.801 0.12 7.00 16.25 177.00 | OK
27.076 | 215.801 0.12 7.00 16.25 177.00 | OK
22.411 | 215.801 0.10 10.50 13.45 265.50 | OK
22.411 | 215.801 0.10 10.50 13.45 265.50 | OK
(N/mm*) (mm?)
d(mm) S(kN) ™m T al T a2 Aw Awreq
2170.0 39.092 0.018 0.220 1.600 126.70 E— 0K
2170.0 39.092 0.018 0.220 1.600 126.70 — 0K
2170.0 35.253 0.016 0.330 2.400 126.70 E— 0K
2170.0 35.253 0.016 0.330 2.400 126.70 — 0K

FORUMS8




1.4
1.4.1
(N/mm?) (N/mn)
M(KN.m) x(mm) gc oca gs o sa
61.374 | 167.908 0.57 7.00 59.70 177.00 | OK
61.374 | 167.908 0.57 7.00 59.70 177.00 | OK
89.674 | 167.908 0.83 10.50 87.23 265.50 | OK
89.674 | 167.908 0.83 10.50 87.23 265.50 | OK
1.4.2
(N/mn) (mm*)
d(mm) S(kN) ™m T al T a2 Aw Awreq
1350.0 29.985 0.022 0.220 1.600 126.70 E— OK
1350.0 29.985 0.022 0.220 1.600 126.70 E— 0K
1350.0 35.756 0.026 0.330 2.400 126.70 E— OK
1350.0 35.756 0.026 0.330 2.400 126.70 E— 0K

FORUMS8




2
2.1
2.1.1
7.000 2.000
™ 2. 000
© S =
= © o “ e | S
k — S8 oA
. = B S | X
S . o,
S - 0. 320 =
o o
10. 000 25. 000
2.1.2
( )
( )
2.1.3
Q : 600.000 (m*/s)
B = 100.000 (m)
1(1/#) n
400.00 0.0350
400.00 0.0350
400.00 0.0350
2.1.4
D 1.600 ()
D2 0.300 (m) ]
1
D3 0.300 () D1 D
D3y

71 1.300 (m) T
0.300 (m)

D1 1.000 (m)

FORUMS8




2.1.5
]
Wu 2.000 (m)
11(1:4) 0.0000
12(1:4) 0.2000
H1 3.100 (m)
H2 0.000 (m)
H3 0.000 (m)
w1 0.000 (m)
W2 0.320 (m)
W 7.000 (m)
d 1.500 (m)
]
C : 5.000
Ic(m) X(m)
2.500 0.000
2.000 0.000

FORUMS8



3.1
3.1.1
: Q = 600.000 (m/s)
- g = Q/B = 600.000/100.000 = 6.000 (m*/s)

FRAGEH: Ve = g« he = 3.889 (m/s)

N q q
PRAKZE: he = — =
Ve Jg * he
2/3 6 000 2/3
he = [} - = 1.543 (n)
Jg 9. 800
q q

V2 1/n « h2** - 1"

‘h2—( q ) ) 6. 000
1/n- 1 1/0. 0350 - (1/400. 00) "

3.1.2

= 2.366 (m)

hc + D1 + D2 = 1.543 + 1.000 + 0.300 = 2.843 h2 = 2.366 (m)

D1 : (m)
D2 : (m)
3.1.3

W/ D=43x((hc/ D)™
W=423x (hc /D) ™D

= 4.3x ( 1.543 / 1.600 )**x 1.600 = 6.681 (m)
= 6.681 - 7.000 (m) (oK)
W (m)
D : (m)
3.2
3.2.1
Ve? Via®
+ AZ + he = + hla
2g 2g
Vla = g/hla

Rand

FORUMS8



Ve? 1 q’
e + AZ +he=—"- — + hla
2g 2¢  hla®
, Ve? X °
hla® - + AZ + hc)hla® + =0
2g 2g
, 3. 889’ . 6. 000
hla® - |———— + 1.600 + 1.543|hla* + ———— =0
2X9.800 2X9.800
hla = 0.763 (m)
Vlia = 7.859 (m/s)
Ve : (m/s)
hc : (m)
hla : m
Vla : (m/s)
AZ: (m)
g : (m/s?)
3.2.2

AH=hc+D - hla=1.543 + 1.600 - 0.763 = 2.379 (m)

3.3
3.3.1
L
3 y
C =
AH

L
CXAH = §+ 2ly

9. 000
5.000X2.379 = 3 + Xly

Sly 8.897 (m)

C :
L : (m)
>y : (M) E11+12+13+14)
AH : (m)
A
hc
M D2
A
— Y H
A hia |
1 14
| d A2
11 ;
ICRE—
v ¥
L |

FORUMS8



3.3.2

Yly - H-D2 + d)

2

8.897 — (3.100 - 0.300 + 1.500)

D2 :

3.4

t = Fs *

= (4/3) -

2

2.299 (m)

Icl = 2.500 (m)
Ic2 = 2.000 (m)

= 2.299 _ 2.500 (m) (0K)

(m
(m
(m

upm — hla - WO
yec — WO
17.924 - 0.763 - 9.810
24.520 - 9.810

= 0.946 (m)

Fs
WO

yc:
hla :
upm :

upm

t=0.946 - 1.500 (m) (0K)

(=4/3)
(KN/m)
(KN/m)
(m)
(KN/1?)

upm
21 - 1Ix
>1

18.300 - 10. 120
18. 300

(hla + AH - ) - WO

(0.763 + 2.379 - ) + 9.810

17.924 (kN/m%)

FORUMS8



W2 Wu W1

<ok

AH :
1 :
21

Ix
Ix

(m)
CELp+11+12+13+14) (m)

lp+ 11 +12+ 13+ 14

9.000 + 1.500 + 0.000 + 2.500 + 5.300
18.300 (m)

(m)

14 + 13 + W1 + Wu + W2
5.300 + 2.500 + 0.000 + 2.000 + 0.320
10.120 (m)

FORUMS8



- 10 -

4.1
@

@

®

*

(kN/m%) 24.520

(kN/m%) 9.810

(kN/m%) 18.000

(kN/m%) 19.620

(kN/m%) 9.810

( )
0.60
Kh = 0.20
1/3 2/3
1.50 1.20
(kN/m*) 294.0 441.0
)]
hwb(m) 1.543
hwm(m) 3.029
hwf(m) 0.763
Ibf(m) 6.681
hwb(m) 1.543
hwm(m) 3.029
hwf(m) 0.763
Ibf(m) 6.681
)]

FORUMS8
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[ 1

hwb(m) 0.000

hwm(m) 0.000

hwf(m) 0.000

1bf(m) 0.320

[ 1

hwb(m) 0.000

hwm(m) 0.000

hw(m) 0.000

Ibf(m) 0.320

4.2
4.2.1 ,
@

@ B
™ Vi Xi Vi Yi
m | @ @ [ m |V [ vi v
1| 2.000( 3.100| 3.100 | 1.000 6.200 | 8.000 | 1.550 49.600 9.610
2| 0.320| 0.000| 1.600 | 1.000 0.256 | 6.893| 2.033 1.765 0.521
3] 0.320| 1.500 (| 1.500 ( 1.000 0.480 | 6.840 | 0.750 3.283 0.360
4] 6.680| 1.500( 1.500 | 1.000 10.020 | 3.340 | 0.750 33.467 7.515
2z 16.956 | — E— 88.115 18.006

X6 == (Vi Xi)/=Vi= 88.115/ 16.956 = 5.197 (m)
Yo =% (Vi Yi) / ZVi= 18.006 / 16.956 = 1.062 (m)

FORUMS8



- 12 -

@)
)
Dl
®
4
™ Vi Xi Vi Yi
m @ | m | @ | Vi) [y Vi SR R
1| 2.000| 1.543| 1.543 | 1.000 3.086 | 8.000 | 3.872 24.688 11.947
2] 0.320| 3.029 | 1.543 | 1.000 0.732 | 6.823 | 3.397 4.991 2.485
3| 6.361| 0.763 | 3.029 | 1.000 12.060 | 4.133 | 2.561 49.846 30.885
41 0.319| 0.763 | 0.763 | 1.000 0.243 | 0.159| 1.881 0.039 0.458
z 16.121 | — —_— 79.564 45.775
X6 =2 (Vi Xi) / ZVi= 79.564/ 16.121 = 4.935 (m)
Y6 == (Vi Yi)/ ZVi= 45.775/ 16.121 = 2.839 (m)
)
Dl
®
dl
™ Vi Xi Vi Yi
m @ | m | @ | Vi) [ vi SR R
1| 2.000 | 1.543 | 1.543 | 1.000 3.086 | 8.000 | 3.872 24688 11.947
2| 0.320| 3.029 | 1.543 | 1.000 0.732 | 6.823| 3.397 4.991 2.485
3| 6.361| 0.763 | 3.029 [ 1.000 12.060 [ 4.133 | 2.561 49.846 30.885
41 0.319 | 0.763| 0.763 | 1.000 0.243 | 0.159 | 1.881 0.039 0.458
z 16.121 | — —_— 79.564 45.775
X6 =X (Vi Xi) / ZIVi= 79.564/ 16.121 = 4.935 (m)
Yo =X (Vi Yi)/ ZVi= 45775/ 16.121 = 2.839 (m)
® .
)
m) (KN/m) (kN) (m) (kN.m)
16.956 24.520 | 415.761 5.197 2160.572
0.000 19.620 0.000 0.000 0.000
16.121 0.000 0.000 0.000 0.000

FORUMS8
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)
™) | /) (kN) ) (kN.m)
16.956 24.520 | 415.761 5.197 2160.572
0.000 19.620 0.000 0.000 0.000
16.121 0.000 0.000 0.000 0.000
)
@) | (kN/1) (kN) @ (kN.m)
16.956 24.520 | 415.761 5.197 2160.572
0.000 19.620 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000
@) Kh (kN) @ (kN.m)
415.761 0.20 83.152 1.062 88.299
0.000 0.20 0.000 0.000 0.000
)
@) | N/ (kN) () (kN.m)
16.956 24.520 | 415.761 5.197 2160.572
0.000 19.620 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000
) Kh (kN) m (kN.m)
415.761 0.20 83.152 1.062 88.299
0.000 0.20 0.000 0.000 0.000
4.2.2
@ « )
y t(kN/m%) 18.000
y b(kN/m?) 19.620
y bw(kN/m®) 9.810
y W(kN/m*) 9.810
a( ) 0.000
0( ) 30.000
5( ) 20.000
5( ) 15.000
Kh 0.20

FORUMS8
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@ (
( )
X1
1 2 3
(m) 2.800 0.000 0.000 2.800
(m 0.000| 2.80| 2.800| ——
m 2.800| 2.800| 2.800| ——
8() 0.000| 0.000| 0.000| ——
Ka 0.2973 0.2973 0.2973 | ———
v N/ 9.810| 9.810| 9.810| ——
PuCKN/IT) 0.000| 0.000| 0.000]| ——
PI(KN/m?) 8.167 0.000 0.000 [ —
PCKN) 11.433| 0.000| 0.000| ——
PV(KN) 3.910 0.000 0.000 3.910
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 10.744 0.000 0.000 10.744
YG(m) 0.933 0.000 0.000 0.933
ek, LEREIEZ —a RIS LD RDT,
Ko cos’(p-0) ,)
, sin(¢p+6) = sin(op-a)
cos’0 *cos(O+5) - |1+
( \/cos(9+5)'cos(9—a)

FORUMS8



- 15 -

( )
X1
1 2 3

(m 2.800 0.000 0.000 2.800

m 0.000| 2.800| 2.800 | ——

(m 2.800| 2.800| 2.800| ——

8 () 0.000| 0.000| 0.000]| ——

Ka 0.2973 0.2973 0.2973 | ——

v N/ 9.810 | 9.810| 9.810| ——

Pu(kN/m?) 0.000 0.000 0.000 [ —

PI(KN/m?) 8.167 0.000 0.000 | —

P(KN) 11.433 0.000 0.000 [ —
PV(kN) 3.910 0.000 0.000 3.910
XG(m) 0.000 0.000 0.000 0.000
PHCKN) 10.744 |  0.000| 0.000 | 10.744
YG(m) 0.933 0.000 0.000 0.933

B, TEEBT —e R vk,
cos’(p—8)

| sin(9+0) - sin(p-a) |
cos’0 +cos(O+§) « [1+
cos(0+6) *cos(0-a)

Ka =

FORUMS8




- 16 -

( )
X1
1 2 3
(m 2.800 0.000 0.000 2.800
m 0.000| 2.800| 2.800 | ——
(m 2.800| 2.800| 2.800| ——
8 () 0.000| 0.000| 0.000]| ——
80 = tan*(kh")( ) 21.801| 21.801| 21.801| ——
Kh* =y b/Cy b - y W) Kh 0.400 | 0.400 | 0.400 | ——
Kea 0.7178 0.7178 0.7178 | ———
v N/ 9.810 | 9.810| 9.810| ——
Pu(kN/m?) 0.000 0.000 0.000 [ —
PI(KN/m?) 19.718 0.000 0.000 | —
P(KN) 27.605 0.000 0.000 [ —
PV(KN) 7.145|  0.000| 0.000| 7.145
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 26.664 0.000 0.000 26.664
YG(m) 0.933 0.000 0.000 0.933

7ok, LIEREGIWE - WO L Y KD,

cos’(¢p—0-0,)

Kea =

cosBo*cos’B *cos(B+5+0,) * (HX/

sin(¢p+6) *+ sin(dp-—a—-0,)

cos(O+5+0,)

ccos(f-a)

2

FORUMS8



- 17 -

( )
X1
1 2 3
(m 2.800 0.000 0.000 2.800
m 0.000| 2.800| 2.800| ——
m 2.800| 2.800| 2.800| ——
8() 0.000| 0.000| 0.000| ——
60 = tan'(Kh")( ) 21.801| 21.801| 21.801| ——
Kh* =y b/Cy b - y w) Kh 0.400| 0.400| 0.400 | ——
Kea 0.7178 0.7178 0.7178 | ———
v (KN/IT) 9.810| 9.810| 9.810| ——
Pu(kN/m?) 0.000 0.000 0.000 [ —
PI(KN/m?) 19.718 0.000 0.000 | —
P(KN) 27.605 0.000 0.000 [ —
PV(KN) 7.145| 0.000| 0.000| 7.145
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 26.664 0.000 0.000 26.664
YG(m) 0.933 0.000 0.000 0.933
B, LERIKIIWE - ME ORI LV RDTIZ,
Kon cos’(¢p—0-0,) :
( sin(p+6) + sin(dp—a—00)
cos o cos’@ = cos(B+5+0) + [1+
( N/cos(6+6+60)-cos(6—a)
4.2.3
@ « D

Wo (KN/1) 9.810

FORUMS8



- 18 -

@

é X A1
1 2 3
(m) 3.100 0.000 0.000 3.100 1.500
m 1.543 | 4.643| 4.643| —— 0.763
(m) 4.643 4.643 4.643 | —— 2.263
PuCKN/IT) 15.137 | 0.000| 0.000 | —— 7.485
PI(KN/m?) 45.548 0.000 0.000 [ — 22.200
P(kN) 94.061 0.000 0.000 | — 22.264
PV(KN) 0.000 0.000 0.000 0.000 | —
XG(m) 0.000 0.000 0.000 0.000 | —
PH(KN) 94.061 0.000 0.000 94.061 22.264
YG(m) 1.291 0.000 0.000 1.291 0.626
)
é / X1
1 2 3
(m 3.100 0.000 0.000 3.100 1.500
m 1.543| 4.643| 4.643| —— 0.763
(m) 4.643 4.643 4.643 | —— 2.263
Pu(kN/m®) 15.137 0.000 0.000 | — 7.485
PI(KN/m?) 45.548 0.000 0.000 [ — 22.200
P(kN) 94.061 0.000 0.000 | — 22.264
PV(KN) 0.000 0.000 0.000 0.000 | —
XG(m) 0.000 0.000 0.000 0.000 | —
PH(KN) 94.061 0.000 0.000 94.061 22.264
YG(m) 1.291 0.000 0.000 1.291 0.626

FORUMS8




- 19 -

)
é / X1
1 2 3

(m) 3.100 0.000 0.000 3.100 1.500
(m) 0.000 3.100 3.100 | ——— 0.000
(m 3.100 3.100 3.100 | —— 1.500
Pu(kN/m?) 0.000 0.000 0.000 | —— 0.000
PI(KN/m?) 30.411 0.000 0.000 | —— 14.715
P(KN) 47.137 0.000 0.000 | —— 11.036

PV(kN) 0.000 0.000 0.000 0.000 | ———

XG(m) 0.000 0.000 0.000 0.000 | —
PH(kN) 47.137 0.000 0.000 47.137 11.036
YG(m) 1.033 0.000 0.000 1.033 0.500

)
é / X1
1 2 3

(m) 3.100 0.000 0.000 3.100 1.500
(m) 0.000 3.100 3.100 | ——— 0.000
(m 3.100 3.100 3.100 | —— 1.500
Pu(kN/m?) 0.000 0.000 0.000 | —— 0.000
PI(KN/m®) 30.411 0.000 0.000 | —— 14.715
P(kN) 47.137 0.000 0.000 | —— 11.036

PV(kN) 0.000 0.000 0.000 0.000 | ———

XG(m) 0.000 0.000 0.000 0.000 | —
PH(kN) 47.137 0.000 0.000 47.137 11.036
YG(m) 1.033 0.000 0.000 1.033 0.500

FORUMS8




- 20 -

4.2.4
@ « )
Wo(kN/m) 9.810
d(m) 1.500
s 1(m) 18.300
FHEEXMOBE X, KLV RD D,
Upx = X1 - 1x

-

hla + Ah+ ——— +d | - Wo
21

»-»-&
— e

Upx :
Ah :

1x

X1

hla :

Wo

EE O HxTOHE S (kN/m*)

BFRAARAL & T RAABGR Y T AKAL & DKL ZE (m)
CEEO R E CORFERE (n)

BRBEH R ()

TP D Lo AR LI3KKERZRT H 2 & TREKE L LTIEARIR,

B T KR (m)
s KO B AR E R (kN/m”)
DRI K i e & ARSI 8 0D 22 ()

FORUMS8
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@ ( )
( )
LRt ATar
}
X [H3 X [#]2
A h(m) = 2.380(m)
hla(m) = 0.763(m)
1 2 3 4
L(m) 0.000 2.320 6.680 0.000 | ——
Lb(m) 2.800 7.800 10.120 16.800 | ——
LF(m) 2.800 | 10.120| 16.800 | 16.800 | ——
0 (C ) 0.000 0.000 0.000 0.000 | —
Pb(kN/m’) 41.975 | 35.596 | 32.636 | 24.114 0.000
PF(KN/m’) 41.975 | 32.636 | 24.114| 24.114 0.000
P(kN) 0.000 | 79.150 | 189.546 0.000 0.000
PV(kN) 0.000 79.150 | 189.546 0.000 | 268.695
XG(m) 9.000 7.857 3.507 0.000 4.788
PH(kN) 0.000 0.000 0.000 0.000 0.000
YG(m) 0.000 0.000 0.000 0.000 0.000
( )

FORUMS8




- 22 -

.............................................

................

X [#]3 X [#]2
A h(m) = 1.600(m)
hla(m) = 0.000(m)
1 2 3 4
L(m) 0.000 2.320 6.680 0.000 | —
Lb(m) 2.800 7.800 10.120 16.800 | ——
Lf(m) 2.800 10.120 16.800 16.800 | ——
0 () 0.000 0.000 0.000 0.000 | —
Pb(kN/m") 28.009 23.721 21.731 16.002 0.000
PF(KN/m’) 28.009 21.731 16.002 16.002 0.000
P(kN) 0.000 52.724 | 126.027 0.000 0.000
PV(KN) 0.000 52.724 | 126.027 0.000 | 178.751
XG(m) 9.000 7.857 3.509 0.000 4.791
PH(KN) 0.000 0.000 0.000 0.000 0.000
YG(m) 0.000 0.000 0.000 0.000 0.000
( )

FORUMS8
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4.2.5

)
(kN (kN X | Y | MxqNem) | oMy@eem) | M(kN.m)
415.761 0.000 | 5.197 | 0.000 | 2160.572 0.000 | 2160.572
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
0.000 0.000 | — 0.000 0.000
3.910 | -10.744 | 9.000 | 0.933 35.194 | -10.028 25.166
0.000 | -94.061 | 9.000 | 1.201 0.000 | -121.441 | -121.441
22.264 | 0.000 | 0.626 13.939 13.939
-268.695 0.000 | 4.788 | 0.000 | -1286.636 0.000 | -1286.636
0.000 | — | 0.000 0.000 0.000
150.976 | -82.541 | 6.022 | 1.424 | 909.130 | -117.520 |  791.600
)
(kN (kN X | Y@ | MxqkNem) | MyckNem) | M(kN.m)
415.761 0.000 | 5.197 | 0.000 | 2160.572 0.000 | 2160.572
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
0.000 0.000 | — 0.000 0.000
3.910 | -10.744 | 9.000 | 0.933 35.194 |  -10.028 25.166
0.000 | -94.061 | 9.000 | 1.291 0.000 | -121.441| -121.441
22.264 | 0.000 | 0.626 13.939 13.939
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
0.000 | — | 0.000 0.000 0.000
419.672 | -82.541 | 5.232 | 1.424 | 2195.766 | -117.529 | 2078.236
)
(kN (kN X@) | Y@ | MxqNem) | oMyNm) | MCkN.m)
415.761 | -83.152 | 5.197 | 1.062 | 2160.572 | -88.299 | 2072.273
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
0.000 0.000 | — 0.000 0.000
7.145 |  -26.664 | 9.000 | 0.933 64.302 |  -24.887 39.415
0.000 | -47.137 | 9.000 | 1.033 0.000 | -48.708 |  -48.708
11.036 | 0.000 | 0.500 5.518 5.518
-178.751 0.000 | 4.791 | 0.000 | -856.485 0.000 | -856.485
0.000 | — | 0.000 0.000 0.000
244.155 | -145.917 | 5.605| 1.072 | 1368.389 | -156.376 | 1212.013

FORUMS8




- 24 -

( )
(kN) (kN) xany | oyam) | oxeem) | omyqenm) | Mkn.m)
415.761 |  -83.152 | 5.197 | 1.062 | 2160.572 | -88.299 | 2072.273
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
0.000 0.000 | — 0.000 0.000
7.145 |  -26.664 | 9.000 | 0.933 64.302 |  -24.887 39.415
0.000 | -47.137 | 9.000 | 1.033 0.000 | -48.708 |  -48.708
11.036 | 0.000 | 0.500 5.518 5.518
0.000 0.000 | 0.000 | 0.000 0.000 0.000 0.000
0.000 | — | 0.000 0.000 0.000
422.906 | -145.917 | 5.261 | 1.072 | 2224.874 | -156.376 | 2068.498
4.3
4.3.1
y- X
N
B
e = E - X
X : (m)
M (kN.m)
N : (kN)
e : (m)
B : = 9.000(m)
(m
NGRN) | omEkNemy | x@m) o o
150.976 |  791.600 | 5.243 | -0.743| 1.500 | OK
419.672 | 2078.236 | 4.952 | -0.452| 1.500 | OK
244.155 | 1212.013 | 4.964 | -0.464 | 3.000 | OK
422.906 | 2068.498 | 4.891 | -0.391| 3.000 | OK
4.3.2
Fs = u
H
Fs :
N (kN)
f = 0.60
H (kN)

FORUMS8
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NCKN) | HCKN) Fs Fea
150.976 | 82.541| 1.097 | 1.500 | NG
419.672 | 82.541| 3.051| 1.500 | OK
244.155 | 145.917 |  1.004 | 1.200 | NG
422.906 | 145.917 | 1.739| 1.200| OK

4.3.3

fit O VENLE DN EH ORI & 5356 (BF531 e < B/6)

pe ¥[8
B B
fof B D VE AL E DN E T O & D 56 (ZAEH1 ¢ = B/6)
P = 2.N, X—B-(E—e)
X 2
P: (kN/m?)
B : = 9.000(m)
X i (m)
N : (kN)
e : (m)
(kN/m*)
N(kN) M(KN.m) e(m) x(m) P Pa
150.976 791.600 0.743 11.270 25.087 | 294.000 [ OK
419.672 2078.236 0.452 12.144 60.683 [ 294.000 | OK
244155 1212.013 0.464 12.108 35.522 | 441.000 | OK
422 .906 2068.498 0.391 12.327 59.243 | 441.000 | OK
5
5.1
@
o ck(N/mm?) 21.00
o ca(N/mm?) 7.00
T al(N/mm*) 0.220
T a2(N/mm?) 1.600
Ecx 10'(N/mm%) 2.35
@

FORUMS8
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( ) S$D295
( ) o sa(N/mm?) 177.00
( ) o sa(N/mm) 157.00
( ) o sa(N/mm?) 265.50
Ecx 10°(N/mm?) 2.00
©)
1.00 1.50
*)
15
RC
(m)
0.000
5.2
5.2.1 ,
@
@®
2
™ Vi Xi Vi Vi
s s i Xi i vi
m | @ | o @ | vie) g v
1| 2.000 1.600| 1.600 | 1.000 3.200 | 1.320| 0.800 4.224 2.560
2| 0.320| 0.000| 1.600 | 1.000 0.256 | 0.213| 0.533 0.055 0.137
z 3.456 | — —_— 4.279 2.697
Xe=Z (Vi Xi) / ZVi-= 4.279 / 3.456 = 1.238 (m)
Ye =X (Vi Yi)/ ZVi= 2.697 / 3.456 = 0.780 (m)
@ .
)
@) | (kN/T) (kN) () (kN.m)
3.456 24.520 84.741 1.238 104.912

FORUMS8
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)
™) | /) (kN) ) (kN.m)
3.456 24.520 84.741 1.238 104.912
)
@) | (kN/1) (kN) @ (kN.m)
3.456 24.520 84.741 1.238 104.912
@) Kh (kN) @ (kN.m)
84.741 0.20 16.948 0.780 13.224
)
() (kN/) (kN) (m) (kN.m)
3.456 24.520 84.741 1.238 104.912
() Kh (kN) (m) (kN.m)
84.741 0.20 16.948 0.780 13.224
5.2.2
@ « )
y t(kN/m) 18.000
y b(kN/m?) 19.620
y bw(kN/m) 9.810
y W(kN/m*) 9.810
a () 0.000
0( ) 30.000
5( ) 20.000
5( ) 15.000
Kh 0.20

FORUMS8
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@ (
( )
X1
1 2 3

(m) 1.300 0.000 0.000 1.300

(m 0.000| 1.300| 1.300| ——

m 1.300| 1.300| 1.300| ——

8 () 0.000| 0.000| 0.000] —

Ka 0.2973 0.2973 0.2973 | ———

v (KN/) 9.810| 9.810| 9.810| ——

PuCKN/IT) 0.000| 0.000| 0.000]| ——

PI(KN/m?) 3.792 0.000 0.000 [ —

PCKN) 2.465| 0.000| 0.000| ——

PV(KN) 0.843 0.000 0.000 0.843

XG(m) 0.000 0.000 0.000 0.000

PH(KN) 2.316 0.000 0.000 2.316

YG(m) 0.433 0.000 0.000 0.433

k., TEEKTZ—ae R RO,

Ka =

cos’(p—0)

, sin(¢+0) * sin(p-a) ’
cos’O +cos(O+0) « [1+

cos(0+6) *cos(0-a)

FORUMS8
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( )
X A1
1 2 3
(m 1.300 0.000 0.000 1.300
(m 0.000 1.300 1.300 | ——
Q) 1.300 1.300 1.300 | ——
6 (C) 0.000 0.000 0.000 | ——
Ka 0.2973 0.2973 0.2973 | ——
y (kN/m’) 9.810 9.810 9.810 | ——
Pu(kN/m?) 0.000 0.000 0.000 | —
P1(kN/m?) 3.792 0.000 0.000 | ——
P(KN) 2.465 0.000 0.000 | —
PV(kN) 0.843 0.000 0.000 0.843
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 2.316 0.000 0.000 2.316
YG(m) 0.433 0.000 0.000 0.433

k. TEEEIT—aeRIZE VRO,

Ka

cos’(p—8)

cos’0 +cos(0+§) *

X sin(¢+6) *sin(p-a) ’
+
cos(0+0) -+

cos(0-a)

FORUMS8
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( )
X A1
1 2 3
(m 1.300 0.000 0.000 1.300
m 0.000| 1.300| 1.300| ——
) 1.300| 1.300 | 1.300 | ——
6 () 0.000| 0.000| 0.000 ——
80 = tan’(kh")( ) 21.801| 21.801| 21.801| ——
Kh* =y b/Cy b - y w) Kh 0.400 | 0.400 | 0.400 | ——
Kea 0.7178 0.7178 0.7178 | —
y (KN/i) 9.810| 9.810| 9.8100| ——
Pu(kN/m?) 0.000 0.000 0.000 | —
PI(KN/m?) 9.155 0.000 0.000 | —
P(KN) 5.951 0.000 0.000 | —
PV(kN) 1.540 0.000 0.000 1.540
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 5.748 0.000 0.000 5.748
YG(m) 0.433 0.000 0.000 0.433
ek, EEAREIIHES - WEORUS X VRO T,
cos’(p—0-6)

Kea =

sin(¢p+6) *+ sin(dp-—a—-0,)

cosBo*cos’B *cos(B+5+0,) * (HX/

cos(O+5+0,)

ccos(f-a)

2

FORUMS8
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( )
X [#]1
1 2 3

(m 1.300 0.000 0.000 1.300
(m 0.000| 1.300| 1.300| ——
m 1.300| 1.300| 1.300 | ——
8() 0.000| 0.000| 0.000| ——
60 = tan'(Kh")( ) 21.801| 21.801| 21.801| ——
Kh* =y b/Cy b - y w) Kh 0.400| 0.400| 0.400 | ——
Kea 0.7178 0.7178 0.7178 | ———
v (KN/IT) 9.810| 9.810| 9.810| ——
Pu(kN/m?) 0.000 0.000 0.000 [ —
PI(KN/m?) 9.155 0.000 0.000 | —
P(KN) 5.951 0.000 0.000 [ —
PV(kN) 1.540 0.000 0.000 1.540
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 5.748 0.000 0.000 5.748
YG(m) 0.433 0.000 0.000 0.433

B, LERIKIIWE - ME ORI LV RDTIZ,

Kon cos’(p—0-6) :
( sin(¢p+6) *+ sin(dp-—a—-0,)
cos o cos’@ = cos(B+5+0) + [1+
( N/cos(6+6+60)-cos(6—a)
5.2.3
@ « D
Wo(kN/m*) 9.810

FORUMS8
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@ ( )
)
X1
1 2 3

m 1.600 0.000 0.000 1.600

) 1.543 |  3.143 3.143 | ——

(m 3.143 3.143 3.143 | ——

Pu(kN/m?) 15.137 0.000 0.000 [ ——

PI(kN/m?) 30.833 0.000 0.000 | ——

P(KN) 36.776 0.000 0.000 [ ——
PV(kN) 0.000 0.000 0.000 0.000
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 36.776 0.000 0.000 36.776
YG(m) 0.709 0.000 0.000 0.709

)
X[H1
1 2 3

(m 1.600 0.000 0.000 1.600

) 1.543 |  3.143 3.143 | ——

) 3.143 | 3.143 3.143 | ——

Pu(kN/m®) 15.137 0.000 0.000 | ——

PI(KN/m?) 30.833 0.000 0.000 [ ——

P(kN) 36.776 0.000 0.000 | ——
PV(KN) 0.000 0.000 0.000 0.000
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 36.776 0.000 0.000 36.776
YG(m) 0.709 0.000 0.000 0.709

FORUMS8
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( )
lg
X1
1 2 3

(m 1.600 0.000 0.000 1.600

m 0.000| 1.600| 1.600 | ——

(m 1.600| 1.600| 1.600 | ——

Pu(kN/m®) 0.000 0.000 0.000 [ ——

Pl (kN/mZ) 15.696 0.000 0.000 | ——

PCKN) 12.557 | 0.000| 0.000| ——
PV(KN) 0.000 0.000 0.000 0.000
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 12.557 0.000 0.000 12.557
YG(m) 0.533 0.000 0.000 0.533

( )
lg
X[H1
1 2 3

(m) 1.600 0.000 0.000 1.600

(m) 0.000 1.600 1.600 | ——

(m) 1.600 1.600 1.600 | ——

Pu (kN/mZ) 0.000 0.000 0.000 | ——

PI(KN/m®) 15.696 0.000 0.000 [ ——

P(kN) 12.557 0.000 0.000 | ——
PV(KN) 0.000 0.000 0.000 0.000
XG(m) 0.000 0.000 0.000 0.000
PH(KN) 12.557 0.000 0.000 12.557
YG(m) 0.533 0.000 0.000 0.533

FORUMS8
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5.2.4

)

(kN) Y(m) MCKN.m)
0.000 |  0.000 0.000
2.316 |  0.433 1.004

36.776 | 0.709 26.072
0.000 |  0.000 0.000

39.092 |  0.693 27.076

)

(kN) Y(m) MCKN..m)
0.000 |  0.000 0.000
2.316 |  0.433 1.004

36.776 | 0.709 26.072
0.000 |  0.000 0.000

39.092 |  0.693 27.076

)

(kN) Y(m) MCKN.m)

16.948 |  0.780 13.224
5.748 | 0.433 2.491

12.557 |  0.533 6.697
0.000 |  0.000 0.000

35.253 |  0.636 22.411

)

(kN) Y(m) MCKN .m)

16.948 |  0.780 13.224
5.748 | 0.433 2.491

12.557 |  0.533 6.697
0.000 |  0.000 0.000

35.253 |  0.636 22.411

FORUMS8



- 35 -

5.2.5
RC
(HFm) 3B
o
[N}
(2l
(&N}
L B
Guna), =
No. 2
(mm) (mm) (mm?)
1 150 | D16 250.000 794.40
No. 2
(mm) (mm) (mm*)
1 150 | D16 250.000 794.40
5.2.6
(N/mm?) (N/mm?)
MCkN.m) x(mm) oc oca os o sa
27.076 | 215.801 0.12 7.00 16.25 177.00 | OK
27.076 | 215.801 0.12 7.00 16.25 177.00 | OK
22.411 | 215.801 0.10 10.50 13.45 265.50 | OK
22.411 | 215.801 0.10 10.50 13.45 265.50 | OK
5.2.7
WIS DEEZ, KA VR D,
S
Tm =
b-d
ZZIZ,
St AT IE Ot AT ST (kN)
b+ FAF OWriEIME = 1000 (mm)
d : EHEOFZhE (mm)
(N/mm?) (mm*)
d(mm) S(kN) m T al T a2 Aw Awreq
2170.0 39.092 0.018 0.220 1.600 126.70 — 0K
2170.0 39.092 0.018 0.220 1.600 126.70 — 0K
2170.0 35.253 0.016 0.330 2.400 126.70 — 0K
2170.0 35.253 0.016 0.330 2.400 126.70 — 0K

FORUMS8
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6
6.1
@
o ck(N/mm?) 21.00
o ca(N/mnr) 7.00
T al(N/mm?) 0.220
T a2(N/mm%) 1.600
Ecx 10'(N/mm%) 2.35
@
) S$D295
( ) o sa(N/mm?) 177.00
( ) o sa(N/mm?) 157.00
( ) o sa(N/mm?) 265.50
Ecx 10°(N/mm?) 2.00
©)
1.00 1.50
*)
15
(m)
0.000
0.750

FORUMS8
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6.2
6.2.1
(€H)
®
™ Vi Xi Vi Vi
m [ | | @ | Vi) [ vi S B
1| 6.680( 1.500| 1.500 | 1.000 10.020 [ 3.340 | 0.750 33.467 7.515
z 10.020 | — E— 33.467 7.515
X6 =3 (Vi Xi) / TVi= 33.467 / 10.020 = 3.340 (m)
Y6 =X (Vi Yi)/ ZVi= 7.515/ 10.020 = 0.750 (m)
@)
( )
o)
Pl
™ Vi Xi Vi Yi
m | @ @ | m | Vi) [ vi
1| 6.361( 0.763 | 3.029 [ 1.000 12.060 | 4.133 | 2.561 49 846 30.885
2| 0.319| 0.763| 0.763 | 1.000 0.243 | 0.159 | 1.881 0.039 0.458
2z 12.304 | — —_— 49.885 31.343
X6 =3 (Vi Xi) /X Vi= 49.885/ 12.304 = 4.054 (m)
Y6 =X (Vi Yi)/ ZVi= 31.343/ 12.304 = 2.547 (m)

FORUMS8
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)
o)
Pl
™ Vi Xi Vi Yi
m | @ | m | @ | Vi) [ vi SR R
1| 6.361( 0.763 | 3.029 [ 1.000 12.060 | 4.133 | 2.561 49.846 30.885
2| 0.319| 0.763| 0.763 | 1.000 0.243 | 0.159| 1.881 0.039 0.458
2z 12.304 | — —_— 49.885 31.343
X6 =2 (Vi Xi)/ ZVi= 49.885/ 12.304 = 4.054 (m)
Y6 == (Vi Yi)/ ZVi= 31.343/ 12.304 = 2.547 (m)
® .
)
m) (kN/m®) (kN) m (kN.m)
10.020 24.520 | 245.690 3.340 820.606
12.304 0.000 0.000 0.000 0.000
)
) (kN/m®) (kN) m (kN.m)
10.020 24.520 | 245.690 3.340 820.606
12.304 0.000 0.000 0.000 0.000
( )
m) (kN/m) (kN) (m) (kN-m)
10.020 24.520 | 245.690 3.340 820.606
0.000 0.000 0.000 0.000 0.000
( )
(m) (kN/m) (kN) (m) (kN.m)
10.020 24.520 | 245.690 3.340 820.606
0.000 0.000 0.000 0.000 0.000
6.2.2
(€H) C )
Wo (kN/m") 9.810

FORUMS8
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@

..........................

X1
1 2

L) 6.680 | 0.000 | ——

Lb(m) 10.120 16.800 [ —

LF(m) 16.800 | 16.800 | ——

8 () 0.000| 0.000 ——
Ph(kN/) 32.636 | 24.114 |  0.000
PF(KN/m?) 24.114 24.114 0.000
P(KN) 189.546 | 0.000 |  0.000
PV(KN) 189.546 0.000 | 189.546
X6 () 3.173| 6.680 | 3.173
PH(KN) 0.000 0.000 0.000
YG(m) 0.000 0.000 0.000

)

FORUMS8
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6.2.3

XA 1
1 2

L(m) 6.680 | 0.000 | ——

Lb(m) 10.120 16.800 [ ——

LF(m) 16.800 | 16.800 | ——

6(C) 0.000 0.000 | ——
Pb(kN/m?) 21.731 16.002 0.000
PF(kN/m?) 16.002 16.002 0.000
P(kN) 126.027 0.000 0.000
PV(kN) 126.027 0.000 | 126.027
XG(m) 3.171 6.680 3.171
PH(KN) 0.000 0.000 0.000
YG(m) 0.000 0.000 0.000

( )

FORUMS8
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(kN/m?)
Pf Pb P L(m) Lx(m) V(kN) x(m)
8.463 25.087 20.802 6.680 6.680 97.745 2.871
(kN/m*)
Pf Pb Pm L(m) Lx(m) V(kN) x(m)
32.577 60.683 53.438 6.680 6.680 | 287.291 3.070
(
(kN/m®)
Pf Pb P L(m) Lx(m) V(kN) x(m)
18.734 35.522 31.195 6.680 6.680 | 166.763 3.062

FORUMS8
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6.2.4

( )
(KN/m?)
Pf Pb P L(m) Lx(m) V(kN) x(m)
34.736 59.243 52.926 6.680 6.680 | 292.790 3.109
)
(kN) X(m) M(KN.m)
-245.690 3.340 -820.606
0.000 0.000 0.000
189.546 3.173 601.390
97.745 2.871 280.590
41.601 1.475 61.374
)
(kN) X(m) M(KN.m)
-245.690 3.340 -820.606
0.000 0.000 0.000
0.000 0.000 0.000
287.291 3.070 881.980
41.601 1.475 61.374
( )
(kN) X(m) M(KN.m)
-245.690 3.340 -820.606
0.000 0.000 0.000
126.027 3.171 399.624
166.763 3.062 510.656
47.100 1.904 89.674

FORUMS8
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( )
(kN) X(m) M(KN.m)
-245.690 3.340 -820.606
0.000 0.000 0.000
0.000 0.000 0.000
292.790 3.109 910.280
47.100 1.904 89.674
6.2.5
RC
()
(e}
-
3
(Fifm) —
No. 2
(mm) (mm) (mm*)
1 150 | D16 250.000 794.40
No. (mm) (mm) (mm*)
1 150 | D16 250.000 794.40
6.2.6
(N/mm?) (N/mm?)
MCKN.m) x(mm) gc o ca gs o sa
61.374 | 167.908 0.57 7.00 59.70 177.00 | OK
61.374 | 167.908 0.57 7.00 59.70 177.00 | OK
89.674 | 167.908 0.83 10.50 87.23 265.50 | OK
89.674 | 167.908 0.83 10.50 87.23 265.50 | OK

FORUMS8
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6.3 1
6.3.1
(€H)
O
™ Vi Xi Vi Vi
m [ | | @ | Vi) [ vi S B
1| 5.930( 1.500| 1.500 | 1.000 8.895 | 2.965| 0.750 26.374 6.671
z 8.895 | — E— 26.374 6.671
X6 =3 (Vi Xi)/ZVi= 26.374/ 8.895 = 2.965 (m)
Y6 =X (Vi Yi)/ ZVi= 6.671/ 8.895 = 0.750 (m)
@)
( )
®
2
™ Vi Xi Vi Yi
m | @ @ | m | Vi) [ vi
1| 5.611( 0.763 | 2.775 | 1.000 9.925 | 3.656 | 2.480 36.288 24611
2| 0.319| 0.763| 0.763 | 1.000 0.243 | 0.159 | 1.881 0.039 0.458
2z 10.168 | — —_— 36.327 25.069
X6 =3 (Vi Xi)/XVi= 36.327/ 10.168 = 3.573 (m)
Y6 =2 (Vi Yi)/ ZVi= 25.069/ 10.168 = 2.465 (m)

FORUMS8
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)
®
2
™ Vi Xi Vi Yi
m | @ | m | @ | Vi) [ vi SR R
1| 5.611( 0.763 | 2.775 | 1.000 9.925 | 3.656 | 2.480 36.288 24.611
2| 0.319| 0.763| 0.763 | 1.000 0.243 | 0.159| 1.881 0.039 0.458
2z 10.168 | — —_— 36.327 25.069
X6 =2 (Vi Xi)/ ZVi= 36.327/ 10.168 = 3.573 (m)
Yo == (Vi Yi)/ ZVi= 25.069 / 10.168 = 2.465 (m)
® .
)
m) (kN/m®) (kN) m (kN.m)
8.895 24.520 | 218.105 2.965 646.683
10.168 0.000 0.000 0.000 0.000
)
) (kN/m®) (kN) m (kN.m)
8.895 24.520 | 218.105 2.965 646.683
10.168 0.000 0.000 0.000 0.000
( )
m) (kN/m) (kN) (m) (kN-m)
8.895 24.520 | 218.105 2.965 646.683
0.000 0.000 0.000 0.000 0.000
( )
(m) (kN/m) (kN) (m) (kN.m)
8.895 24.520 | 218.105 2.965 646.683
0.000 0.000 0.000 0.000 0.000
6.3.2
(€H) C )
Wo (kN/m") 9.810

FORUMS8
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@

...................

X1
1 2

L) 5.930 | 0.000 | ——

Lb(m) 10.870 16.800 [ —

LF(m) 16.800 | 16.800 | ——

8 () 0.000| 0.000 ——
Ph(kN/) 31.679 | 24.114|  0.000
PF(KN/m?) 24.114 24.114 0.000
P(KN) 165.427 | 0.000 |  0.000
PV(KN) 165.427 | 0.000 | 165.427
X6 () 2.831| 5.930| 2.831
PH(KN) 0.000 0.000 0.000
YG(m) 0.000 0.000 0.000

)

FORUMS8
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i’

6.3.3

XA 1
1 2

L(m) 5.930 | 0.000 | ——

Lb(m) 10.870 16.800 [ ——

LF(m) 16.800 | 16.800 | ——

6(C) 0.000 0.000 | ——
Pb(kN/m?) 21.088 16.002 0.000
PF(kN/m?) 16.002 16.002 0.000
P(kN) 109.970 0.000 0.000
PV(kN) 109.970 0.000 | 109.970
XG(m) 2.829 5.930 2.829
PH(KN) 0.000 0.000 0.000
YG(m) 0.000 0.000 0.000

( )

FORUMS8
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(
(kN/m?)
Pf Pb P L(m) Lx(m) V(kN) x(m)
8.463 25.087 19.416 5.930 5.930 | 82.664 2.577
( )
(kN/m%)
Pf Pb Pm L(m) Lx(m) V(kN) x(m)
32.577 60.683 51.096 5.930 5.930 | 248.091 2.746
( )
(kN/m?)
Pf Pb P L(m) Lx(m) V(kN) x(m)
18.734 35.522 29.796 5.930 5.930 | 143.892 2.740

FORUMS8
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6.3.4

( )
(kN/m?)
Pf Pb P L(m) Lx(m) V(kN) x(m)
34.736 59.243 50.883 5.930 5.930 | 253.862 2.779
)
(kN) X(m) M(KN.m)
-218.105 2.965 -646.683
0.000 0.000 0.000
165.427 2.831 468.321
82.664 2.577 213.001
29.985 1.155 34.639
)
(kN) X(m) M(KN.m)
-218.105 2.965 -646.683
0.000 0.000 0.000
0.000 0.000 0.000
248.091 2.746 681.322
29.985 1.155 34.639
( )
(kN) X(m) M(KN.m)
-218.105 2.965 -646.683
0.000 0.000 0.000
109.970 2.829 311.156
143.892 2.740 394.226
35.756 1.642 58.699

FORUMS8




- 50 -

( )
(kN) X(m) MCKN.m)
-218.105 2.965 -646.683
0.000 0.000 0.000
0.000 0.000 0.000
253.862 2.779 705.381
35.756 1.642 58.699
6.3.5
RC
(1) 2
()
2
2
(Fifm) —
No. (mm) (mm) (mm*)
1 150 | D16 250.000 794.40
No. (mm) (mm) (mm?)
1 150 | D16 250.000 794.40
6.3.6
T AWIS L, RAUT KV RD B,
S
Tm =
b-d
ZZIZ,
S ERAWTIE OB AT ST (kN)
b A OWrENE = 1000 (mm)
d : EHMOEZE (mm)

FORUMS8
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(N/mm) (mm*)
d(mm) S(kN) m T al T a2 Aw Awreq
1350.0 29.985 0.022 0.220 1.600 126.70 —_— OK
1350.0 29.985 0.022 0.220 1.600 126.70 —_— OK
1350.0 35.756 0.026 0.330 2.400 126.70 —_— OK
1350.0 35.756 0.026 0.330 2.400 126.70 —_— OK
7.1
2.000 (m)
7.2 A
7.2.1 (hla)
hla = 0.763 (m)
7.2.2 (h1b)
hlb 1
— = — (T +8-F2-1
T )
1
hib = §<’/1 + 8- 0. 5272—1) +2.366 = 0.940 (m)
hib : (m)
h2 : (m)
F2
7.2.3 (hla) (hib)
h1a(=0.763) < h1lb(=0.940) A
L=1L11+1L2
L1 : (m)
L2 : (m)
L1
L1 hla hilb
2 1 )
C 4
q (m*/s)
C (=h**/n)
n A
X (m)
a :
hc : (m)
hla(x=0) a h hib x=L1
x=0

FORUMS8
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1 4 3 1 4 3
a = Z°h1a — hc’ - hla = 2'0.763 - 1.543" - 0.763 = -2.720

(hib)  0.940 (m) L1 X

2

1
- X +a = Zhlb" = he® - hlb

hlb
C = h1b”*/n = 0.940"° /0.0350 = 28.276

. C
'h1b1—hc"'h1b—a)-—2

lex:—(
q

28. 276
6. 000

1 \
_ ( S 0.910' - 1543+ 0,940 - (-2.720) ) : = 11.929 (w)

] q hc
: Q = 600.000 (m*/s)

: g = Q/B = 600.000/100.000 = 6.000 (m*/s)
MRS : Ve = g+ he = 3.889 (m/s)

N q a
RAAKGE: he = — =
Ve Jg + he
2/3 6' OOO 2/3
She = [—) = = 1.543 (m)
g 9. 800
(L2)
L=12= (4.5 6)x h2 = (4.5 6)x 2.366 = 10.645  14.194 (m)
A
L=L1+L2=11.929 + 10.645  14.194 = 22.574  26.123 - 25.000 (m)
7.3 B

LB= (3 5)xh2 = (3 5)x2.366 = 7.097  11.828 — 10.000 (m)

FORUMS8
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p w = 1000.000 (kg/m%)

B
E E: E: E:
p b/pw 2.090 2.090 2.090 2.090
a(x 107%) 0.790 0.790 0.790 0.790
B 2.800 2.800 2.800 2.800
vd (m/s) 2.536 5.198 7.859 3.889
W (kN) 0.007 0.543 6.491 0.095
3 6
W b [ Vd
ol e )
ob - ow g B
_ 1 " ob/owXpw [Vd\’
ob/ow -1 g B
W (kN)
vd (n/s)
a :
pw: (kg/m®)
pb: (kg/m*)
B -
i 1 * 2,090 1000. 000 [3.889\"
W =0.790x10" . ‘ =0.095 (kN)
2.090 - 1 9. 800* 2. 800
( A
B 1 *2.090x1000.000 [7.859\"
W =0.790x10" . : = 6.491 (kN)
2.090 - 1 9. 800* 2. 800
( A )
i 1 * 2,090 1000. 000 [5.198\°
W =0.790x10" . = 0.543 (kN)
2.090 - 1 9. 800* 2. 800
B
. 1 *2.090x1000.000 [2.536\"
W =0.790x10" . - = 0.007 (kN)
2.090 - 1 9. 800 2. 800

FORUMS8
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